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5H 68 7 H 8 A 9H 10H 118 128 18 28
WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 9,396 80,388
PTALEt 1,200 600 600 0 600 600 600 600 600 5,400]
SESPEREE EMEGIE 400 0 0 0 0 0 0 0 0 0 400}
N BARRK—VERE A— $ELFHSREEQES 1,780 0 0 0 0 0 0 0 0 0 1,780}
i EEM1ESEH 6,000 3,400 2,000 0 2,000 2,000 2,000 1,700 0 0 19,100}
1 fﬁ ™=l [=] A , ’ ’ ’ ’ ’ ’ 7
EERITIRILERE 0 8,500 8,500 0 8,500 8,500 8,500 8,500 9,000 60,000]
HEERE 0 900 0 0 0 0 0 0 0 0 900]
EEIREE 0 0 900 0 0 0 0 0 0 0 900]
i 23,996 22,796 21,396 0 20,496 20,496 20,496 20,196 18,996 0 168,868
WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 9,396 80,388
PTALEt 1,200 600 600 0 600 600 600 600 600 5,400
SESPEREE EMEGIE 400 0 0 0 0 0 0 0 0 0 400
N BARRK—VERt A— $ELFHSREEQES 1,780 0 0 0 0 0 0 0 0 0 1,780
i EEM2ESEH 7,000 5,000 4,500 0 4,000 3,000 3,000 2,000 0 0 28,500
ZE ™=l [=] A , , y y , b 5 5
ﬂ%%ﬁﬁ#ﬁ:'z%A?r 0 9,500 9,500 0 9,500 9,500 9,500 10,000 10,500 68,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EEIREE 0 0 900 0 0 0 0 0 0 0 900
i 24,996 25,396 24,896 0 23,496 22,496 22,496 21,996 20,496 0 186,268
WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 2,088 73,080
PTASE 1,200 600 600 0 600 600 600 600 600 5,400
SESPEREE EMEGIE 400 0 0 0 0 0 0 0 0 0 400
N BARRK—VERt A— $ELFHSREEQES 1,780 0 0 0 0 0 0 0 0 0 1,780
il EEHIERE 6,000 4,000 4,000 0 4,000 3,000 2,000 1,800 0 0 24,800
35’3 ™=l [=] A , ’ y y , b 5 5
BERITIRILERET 5,000 5,000 0 0 0 0 0 0 0 0 10,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EEIREE 0 0 900 0 0 0 0 0 0 0 900
i 28,996 19,896 14,896 0 13,996 12,996 11,996 11,796 2,688 0 117,260
WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 9,396 80,388
PTALEt 1,200 600 600 0 600 600 600 600 600 5,400
SESPEREE EMEGIE 400 0 0 0 0 0 0 0 0 0 400
e | BARK—VRREYS— UEAFHSREEAES 1,780 0 0 0 0 0 0 0 0 0 1,780
£ BEHES1EREH 9,000 5,000 1,970 0 1,970 1,970 1,970 1,970 0 0 23,850
1% BERITIRILERET 0 8,500 8,500 0 8,500 8,500 8,500 8,500 9,000 60,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EEIREE 0 0 900 0 0 0 0 0 0 0 900
i 26,996 24,396 21,366 0 20,466 20,466 20,466 20,466 18,996 0 173,618
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5H 68 7 H 8 A 9H 10H 118 128 18 28

WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 9,396 80,388
PTALEt 1,200 600 600 0 600 600 600 600 600 5,400
SESPEREE EMEGIE 400 0 0 0 0 0 0 0 0 0 400
e | BARK—VRREYS— UEAFHSREEAES 1,780 0 0 0 0 0 0 0 0 0 1,780
£ BEEH2ERE 9,500 3,350 3,350 0 3,350 2,850 2,850 1,650 0 0 26,900
2% BERITIRILERET 0 9,500 9,500 0 9,500 9,500 9,500 10,000 10,500 68,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EEIREE 0 0 900 0 0 0 0 0 0 0 900
i 27,496 23,746 23,746 0 22,846 22,346 22,346 21,646 20,496 0 184,668
WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 2,088 73,080
PTALEt 1,200 600 600 0 600 600 600 600 600 5,400}
SESPEREE EMEGIE 400 0 0 0 0 0 0 0 0 0 400}
e | BARA—VRREYS— UEAFHSREEAES 1,780 0 0 0 0 0 0 0 0 0 1,780}
#£H = FHEHIE (MF) K5t 6,000 3,050 3,050 0 3,050 3,050 2,050 1,500 0 0 21,750}
3% EERITIRILERE 5,000 5,000 0 0 0 0 0 0 0 0 10,000}
HEERE 0 900 0 0 0 0 0 0 0 0 900]
EEIREE 0 0 900 0 0 0 0 0 0 0 900,
i 28,996 18,946 13,946 0 13,046 13,046 12,046 11,496 2,688 0 114,210
WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 9,396 80,388
PTASE 1,200 600 600 0 600 600 600 600 600 5,400
SESPEREE EMEGIE 400 0 0 0 0 0 0 0 0 0 400
e | BARK—VRREYS— UEAFHSREEAES 1,780 0 0 0 0 0 0 0 0 0 1,780
55 EEMERI1ERE 5,000 4,300 4,000 0 2,000 2,000 2,000 2,000 0 0 21,300
14 BERITIRILERET 0 8,500 8,500 0 8,500 8,500 8,500 8,500 9,000 60,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EEIREE 0 0 900 0 0 0 0 0 0 0 900
i 22,996 23,696 23,396 0 20,496 20,496 20,496 20,496 18,996 0 171,068
WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 9,396 80,388
PTALEt 1,200 600 600 0 600 600 600 600 600 5,400
SESPEREE EMEGIE 400 0 0 0 0 0 0 0 0 0 400
e | BARK—VRREYS— UEAFHSREEAES 1,780 0 0 0 0 0 0 0 0 0 1,780
=X ) EEMEE2ERE 9,500 5,700 4,000 0 3,000 2,350 2,350 2,400 0 0 29,300
2% BERITIRILERET 0 9,500 9,500 0 9,500 9,500 9,500 10,000 10,500 68,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EEIREE 0 0 900 0 0 0 0 0 0 0 900
i 27,496 26,096 24,396 0 22,496 21,846 21,846 22,396 20,496 0 187,068
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WRESE 14,616 9,396 9,396 0 9,396 9,396 9,396 9,396 2,088 73,080

PTALEt 1,200 600 600 0 600 600 600 600 600 5,400
SEEPERIEEEHIETIE 400 0 0 0 0 0 0 0 0 0 400
BARR—VRR L 4— KELFHEREEEES 1,780 0 0 0 0 0 0 0 0 0 1,780
EEMEEIERET 9,000 6,450 3,250 0 2,000 1,500 1,350 1,350 0 0 24,900
BERITIRILERET 5,000 5,000 0 0 0 0 0 0 0 0 10,000
EREEEE 0 900 0 0 0 0 0 0 0 0 900
EREEIREE 0 0 900 0 0 0 0 0 0 0 900

it 31,996 22,346 14,146 0 11,996 11,496 11,346 11,346 2,688 0 117,360




